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Appendix (1) g
Physical Constants dul jwad Safgeid!
olaatd syl ol
—-273.15°C 0K | absolute zero temperature Slall yaundl syl o do s
2 acceleration due to e Lo VI Ll g5l cols
9.801m/s gravity at sea level

(Washington d. c.) olaidly igal e dl mla S5iwa
6.022 x 10% particles / mole No | Avogadro’s number 9yale g8 due
-1.6022x107 C e charge of an electron OtV xd
8.988x10° N.m?/ kg® K | constantin Coulomb’s aolss ol
6.673x107"* N.m?/kg? G | gravitational constant aladl Castl cals
9.109 x10°* kg m, | mass of an electron Oyt s
1.673x 107 kg m, | mass of a proton 9oyl diss
6626107 ) / Hz h Planck’s constant b cals

4.136 107 eV .5 T
2.99792458 x 10° m/ s(exact) C speed of light in a vacuum s gunll de yuu
1.67492x107*" kg m, | mass of neutron O gl s
8.85x10™ F/m &, permittivity of space el Lol Jalan
47 %107 T.m/ A 4, | permeability constant 181l aalas Jalaa

Conversion Factors Jugx Jelgs

1.661x107" kg = 931.5 MeV / ¢? = | atomic mass unit £ ,:J! dnestf sasg )
1.602x107" J = electronvolt c.dgs ¢y9ymesl] )

IN.m = Joule Jg>

1v.C = Joule J¢>

6.242 x 10" x ( elementary charge units) | = coulomb a gf4<=
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J,v_ J:n:l'l 5 J.“ PRES _,]'.
HEL]
11bm=4.536.10-1kg | Lbm Pound mass
1o0zm=2.835.101 Ozm Ounce mass
1 ton=1,016 .103 kg Ton Ton(long= 2240 lbm)
1 short ton= | Short ton Ton(short =2000 Ibm)
9.072.102kg It =it Tonne (metric ton)
1.00x103
J st
1 mile = 1.609x100km | mile Statute mile
1yd=9.144x10-1 m | vyd Yard
1 ft=3.048x10-1 m ft Foot
1in=2.54x10-2 m n - Inch
1 mil = 2.54x10-2 mm | mil Mil(103 in)
L)
[Tha=100x104m | ha Hectare
1 mile2 =2.59x100 km2 | mile2 (statue mile)2
1 acre =4.047x103 m2 | acre acre
1 yd2=8.361x10-1 m2 | yd2 Yard 2
1ft2 =9.29x10-2 m2 fi2 Foot2
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I Bm=1054x103)

Btu British thermal unit
1l =418100 J Cal Calorie
| 1 R f=1356x 100J | Ft.Ibf Foot pound force
11eV=1602x10-19] |eV Electron-force
1 erg=1.00x10-7J erg Erg
1XWh=3.60x106J |kwh Kilowatt-hour
Joaall.
]
i 1nm2 =1.00x 100 Pa n/m2 Newton/metre2
latm=1.013x105Pa | atm g‘mosphefe
 1'bar= 1.00x 105 bar o
¢
1 cmHg=1333x 103Pa | cmHg Cm of mercury (04C)
1 dyne/cm2 =1.00x 10-1 Pa | dyne/em2 Dyne/centimetre2
1 iH20=2.989x 103 Pa | fH20 Feet of water (4¢C)
1inHg =3.3866x 103 Pa | inHg Inches of mercury (0¢C)
1inH20=2.491x 102 Pa | inH20
I kgfiem2 = 9.807x104 Pa keflom? Inches of water (4¢C)
11bffft2 = 4.788x 101 Pa | b2 Kilogram force/cm2
1 Tbr/in2 = 6.895x 102 P4 | br/in2 Pound force/foot2
| : 33:_5 102 P T/1n Pound force/inch2(=psi2)
torr = 1.
o x| tomr Torr (04C)(=mmHg)
is L
1 in/s = 2.54x 101 mm/s In/s - Inch/second
1 ft/s =3.048x 101 m/s Ft/s Foot/second
1 ft/min = 5.08x 10-3 m/s | Ft/min Foot/minute
1 mile/h =4.47x 10-1 m/s. | Mile/h Mile
1 mil/h = 1.609x 100 km/h
1 knot=1.852x 100 km/h | Knot Knot .
1 g=9.807x 100 m/s2 G Free fall, standard( =g)
Ift/s2 = 3.048x 10-1 m/s2 | Ft/s2

Foot/second2
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SO gl FAPRURREEN SO gl ESPRUBREN
lkgm® /s’ aslaz ! ikgm’/s® U2
1J/s IN.m
1V/A o 1W.s = 1J
0.239006 cal/s =1W  10.239006 cal
0.737562ftIbf/s 0.737 562 ft.Ibf
0.056870Btu/mi 9,478.10- 4 Btu
n 107 dyn.cm
0.001341 HP 107 er

10 cm” .bar

9.869 cm’ atm
100 cm J i 1000 g A=<
3,28084 ft 2.204 62 lbm

=1kg

106 cm® , 1 kg.m/s” -
1000 letter = 105 dyn .
35.3147 ft’ =1lm 0.224 809 Ibf = 1IN
264.172 US gal
1 g/letter S 1 N/m” laaall
0.001 g/em® . | 10 dyn/em?
0,062 427 | = 1kg/m” | 1 45038.10" Ibf/in®
bm/t®  0.008 9,869 23.10%atm =1Pa
3451bm / 1.10” bar

US gal

7,50061.107 toor




C.MOI*-1 96485.33  F St s
6.674E-11 m”3.kgN-1.s/- G e‘-ﬂ\ il cul
2

6.022141E+23 molr-1| N[A] s
8.31446 j.mol"-1.k -1 R Gl Had) culd
Al
1.380649E-34 j.kA-1| K[B] e 5 A




